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On Company > Company Profile > Setting > Leave Setting there have 3 Leave Calculation Method to choose.

Leave Calculation Method : ‘ | |

Days Method

Month/Inclusive

Leave Cutoff Day :
Month/Proportion

Here is the formula for 3 Leave Calculation Method.

1)

For Days Method, the system will calculate the leave entitlement based on days
Calculation Formula:

n = No. of days start from year until Join/Confirm Month and Day
L1 = Leave Entitle Days before Join/Confirm Day.
L2 = Leave Entitle Days on and after Join/Confirm Day.
yearTotalDays = 365 or 366(if it’s leap year)
Leave Entitlement = (((n—1) + yearTotalDays) x L1) + (((yearTotalDays — n +1) + yearTotalDays) x L2)
Join Date Year of Service No. of Days Total Days of Year Leave Entitle Leave Entitlement
(n) (yearTotalDays) Days
01/01/2020 — 13/03/2020 8 (L1) ((73-1)+366)x8) +
(< 2 years) 73 e
13/03/2019 —1776372020 — 31/12/2020 | (31(Jan) + 29(Feb) + 13(Mar)) | 386(Ieap yean) X)) f(((f%g Z%*;%) 300 a?s
(< 2 years) ' '
. 01/01/2(0<22 ;;%;)5/2020 ) (1 4 %) o (I | 8(L1) ((((((1 41—1)+3)66)x8)) + )
20/05/2018 31(Jan) + 29(Feb) + 31(Mar) + 366(leap year 366—141+1)+366)%12
21/05/2020 — 31/12/2020 30(April) + 20(May)) 12(L.2) = (3.06 + 7.41) = 10.47 days
(> 2 years and < 5 years)
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For Month/Inclusive, to calculate leave of entitlement based on which cut of date of the month. (e.g.: if the cutoff date is set as 15 at Include the
month in service length calculation if day of service is before or on, employees who join before 15 of the month, the system will include 1 day of
leave entitlement and for those who join after 15 of the month, the system will exclude the 1 day of leave entitlement for that month.)
Calculation Formula:

CutoffDay = Leave Cutoff Day
Mons = No. of months start from year until Join/Confirm Month.
Or
Mons = Mons — 1 (If Join/Confirm Date <= CutoffDay)
L1 = Leave Entitle Days before Join/Confirm Day.
L2 = Leave Entitle Days on and after Join/Confirm Day.
Leave Entitlement = ((Mons + 12) x L1) + (((12 — Mons) + 12) x L2)
Join Date Year of Service No. of Months Leave Entitle Days Leave Entitlement
(Mons)
01/01/2020 — 13/03/2020 2 8 (L1) _
((2+12)x8) +
13/03/2019 (< 2 years) (Jan + Feb + Mar) (((12-2) +12)x8)
14/03/2020 — 31/12/2020 (13(Join Date) <= Cutoff Day) 8 (L2) = (3.33 + 6.67) = 8 days
(< 2 years) (Mons = 3 - 1) : : Y
01/01/2020 — 20/05/2020 5 8(L1) L 19\x
20/05/2018 (< 2 years) (Jan + Feb + Mar + Apr + May) ((((1(5_51)23128)))(;2)
21/05/2020 — 31/12/2020 (20(Join Date) > Cutoff Day) 12(L2) = (3.33+7) = 10.33 days
(> 2 years and < 5 years) (Mons = 5) ' '

Leave Cutoff Day: Specify the cutoff date for the system to calculate the leave entitlement. This setting is only applicable if Month/Inclusive
method is used.

Ak

Leave Cutoff Day :E

For example: 15 is set on Leave Cutoff Day, therefore if date of service is before or on the 15th of the month, the system will include the
month in service length calculation and if the date of service is after the 15th of the month, the system will exclude the month in the service
length entitlement.
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For Month/Proportion, the system will calculate based on proportion
Calculation Formula:
Mons = No. of months before Join/Confirm Month

JoinDays = No. of days of Join/Confirm Day — 1
JoinMonthDays = No of days of Join/Confirm Month

Monl = Mons + (JoinDay + JoinMonthDays)

Mon2 =12 - Monl

L1 = Leave Entitle Days before Join/Confirm Day.

L2 = Leave Entitle Days on and after Join/Confirm Day.

Leave Entitlement = ((Monl +12) x L1) + ((Mon2 + 12) x L2)

Join Date Year of Service No. of Months Leave Entitle Days Leave Entitlement
(Monl & Mon2)
01/01/2(032 ;e?;SB/ZOZO Monl =2+ ((13-1) +31) =2.39 8(L1) ((2.39 +12) x 8) +
13/03/2019 ((9.61 +12) x 8)
14/03/2020 - 3171212020 Mon2 = 12 - 2.39 = 9.61 8(L2) = 1.60 + 6.40 = 8 days
(< 2 years)
01/01/2020 — 20/05/2020 Monl =4+ (20— 1+ 31) = 4.61 8(L1) ((4.61 — 12) x 8) +
20/05/2018 (< 2 years) ((7.39 = 12) x 12)
21/05/2020 — 31/12/2020 _ _ 12(L2) = (3.07 + 7.39) = 10.46 days
Mon2 =12 -4.61=7.39
(> 2 years and < 5 years)




